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Guess Paper – 2010

Class – XII

Subject –Mathematics
  SECTION-
1. If tan-11  +  tan-1(1/2) = tan-1α, find α.

2. If f(x) = 8x3 and g(x) = x⅓ , find g o f.

3.
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4. If f(x) = 
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 is continuous at x=0, then find f(0)

5. Construct a 2x2 matrix, A = (a
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6. Check the monotonocity i.e increasing & decreasing of 
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7. Differentiate w.r.t.x: 
[image: image7.wmf]x

e

x

5

+

+e2

8. Show that 9x
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+4 x +5 is always increasing.

                                                           SECTION-B                               6x4 = 24 marks
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10. Show that    sin –1 12 /13  + cos- 1  4/5  + tan –1 63/16  =  π  OR 
     If 
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11. Using properties of determinants, find the solutions of following
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12. 
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      13. Show that the curves 2x = y2 and 2xy = k cut at right angles if k2 = 8.

      14. Prove that x/a + y/b = 1 is a tangent to the curve y = be-x/a at the point where the curve

    cuts y-axis.

                                                           SECTION-C                               3x6 = 18 marks
15. If the lengths of three sides of trapezium other than base are equal to 

     10 cm, then find the area of the trapezium when it is maximum.    OR.          A rectangle is inscribed in a semicircle of radius ‘a’ with one of its sides on the diameter of semicircle. Find the dimension of the rectangle so that its area is maximum. Find also the area.
16. If A=
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 Find A-1 and hence solve the system of linear equation: 3x+4y+7z=14,

         2x-y+3z=4, x+2y-3z=0.
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     If type X costs Rs 30 per Kg and  type Y costs Rs 40 per Kg, find the minimum cost of the

      mixture.
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